addend + addend = sum

Examplz of mental j O‘tthgs for addition

32 + L4 =36
- The | checks each
Jump to make sure
W/\ there are the correct
number of Jumps.
32 36

36
whole
32 [
g part part
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E xamplxa of mental jottings for addition

32+4L0 =72
+0 + —TO% 40 The |checks each

Jump to make sure
there are the correct
number of Jumps.

32 L2 52 62 /2

72

i

% whole
32 40
% % Ioart Ioart
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whole

Part art

whole @

part par‘t
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Tens Ones

Children can draw- lines fortens
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32 +46 =78

Tens Ones
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= 30 + 2
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37 + L6 = 83

Step 1
Tens Ones

999
96906 30 +7
]

AT LO+6
9 9

10 ones are the same as | ten.

Ica,nmgroup 10 ones for | ten.

78

whole

32
part

L6
Ioar't

Children can draw- lines for tens
and small circles fo-r ones.

e 32 + 46
s
83
whole
37 L6
Ioar't part
Step 2
Tens Ones
909
37 30+7
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Subtraction
minuend - subtrahend = difference

Examplz of mental jottings for subtraction
36 - L =32

B —

The | checks each
Jump to make sure
there are the correct
number of Jumps.

32 36 Whole
36 part art
N whole
R 32 L
) 19 9 N part part
Example of mental jottings for subtraction
/2 - L0 =32
-1 210 _10 -10 The |chec/es each

Jump to make sure
there are the correct
number of Jumps.

whole @
72 part / part
whole
32 40
Ioart Ioart

Children can draw- lines for tens
and small circles for ones.

o 72 - L0
THHIE

/8 - 46 = 32 78

whole

32 L6
part part




Tens Ones

I

S

e} 70 + 8 Children can draw- lines for tens

§ and small circles fo-r ones.

a g /8 - L6
m ]
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83
_ whole
83 - L6 =37 — y
part Ioar't
Sbap 7 Step 3
Ones Ones
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Slzp 2
Ones S&P L
Ones
o | 990
JI—> 99909

Ica.nregruu.,o,l ten, for 10 ones.




Year 2

MLLLtL,alLoa,twn
multi,alierxmutuplicand,=pmduct
3x5=15
3 times 5
3gmup50f5
3 lots of 5
5, three times
00000
i, seeee
00000
5+5+5 3 rows of 5
.. .. .. 0 5 10 15 5 ‘ 5 |
5x3=15
5 times 3
5group50f3
5 lots of 3
3, five times
3+3+3+3+3
5 rows of 3
1348 43 53 +3
SeScmeses 15
03 691215 (33 ]3]3]3




Year 2
Division

dividend + divisor = quotient

Sharing
15+5=3
15 sha,red bztwmn 5
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There are 15 cakes to he shared

hetween 5 children. How- many

cakes each?
There are 5 groups.

There are 3 in each group.

Grouping
15+5=3
How- many groups of 5 make 157
Put 15 into groups of 5.

g

There are 15 cakes to he put into
hoxes, with 5 cakes in each hox.
How~ many hoxes are needed?

sesesese

3x5=15

S50

There are 3 groups.
There are 5 in each group.




